THRBELIRES

[ £pk 27 &£ 38 31 B K )

1THEX 17 Bl X 4 5 S it O ATEX T Bl X 4 5 S it it [ fTEX 1T EL X 4 5 LS 7t QLIRS
1/RER 79 91 170 59 201 | &7 ERED 385 415 800 312 316 |BHABEN 640 680 1,320 361
(0 ( 1) | ( 1) (—TH) 1) 2, C 3 STH) 2) 2) 4)
pALIN = 411 403 814 332 202| &7 R D 652 688 1,340 579 N7HAEEL 425 406 831 256
( | 5 6) (ZTH) 1) 0) | ( 1) (tTH) 1) 0) 1)
3 HTH 87 90 177 66 203 |'& /7 AR 557 558 1,115 447 318 BHAEE) 0 0 0 0
(Ol ool 0 (Z=TH) 3) 4. C 7 (/\T H) 0) 0) 0)
40T 357 439 796 344 204 | & /7 FAbER 483 500 983 416 321 | HEE— 274 263 537 156
(O ool 0 (uTH) 0) )N ) (— T H1~AFH) 8) 1) 9)
5— /4 62 55 117 31 211 |k 418 414 832 332 322| X HEE— 238 257 495 147
( 0) | ( 0) | ( 0) (—TH) 0) 1)1 ( 1) (ZT B4 2) 3) 5)
6| —/F4 85 85 170 50 212 |k 225 254 479 190 323 | HEE— 683 692 1,375 404
(0]« 1) | ( 1) (ZTH) 0) 0/ C 0 (SRNEES ")) 2) 3) 5)
7= B4 163 172 335 129 213 |kt 280 264 544 200 324 | HEE 413 418 831 305
(O ool 0 (ZTH) 1) 0) | ( 1) (04T H1~17FH) 0) 1) 1)
8|EFH 149 154 303 104 214 |k 385 390 775 318 325 | HEE — 663 693 1,356 417
(0 ( 1) | ( 1) (uTH) 0) 1) ( 1) (BT B4 0) 0) 0)
9| g H 50 44 94 28 221 | BT DOY—TH 568 598 1,166 429 326 | HE— 339 388 727 215
(0 ( 1) | ( 1) 0) N C 1N ST H1~17%H) 0) 2) 2)
105 60 56 116 36 222 | BHITOY T H 684 679 1,363 514 327 | HEE = 883 910 1,793 526
(0|l oo/ 0 1) 2, C 3 (ET H A% 0) 1) 1)
11| K% 43 44 87 25 223|BHITOY=TH 839 829 1,668 618 328 |k M = 232 239 471 158
(O ool 0 1) 0/ C 1 O\T H48) 1) 0) 1)
12|55~ 93 82 175 49 231|HEE—TH 619 639 1,258 463 329|pk M = 6 5 11 7
(0 ( 1) | ( 1) 0) HC 1N LT B4 0) 0) 0)
13 K& 44 49 93 24 232|lHEE-TH 811 853 1,664 605 331 | HEE 7 34 11 39
( 0) | ( 0) | ( 0) 0) 2) | ( 2) (—T H5~8%H) 0) 0) 0)
14 4 FH 79 80 159 44 233/ HEE=TH 362 374 736 272 334 | HEE = 482 467 949 347
(O ool 0 0) N C 1N (U T H18~28% 1) 1) 5) 6)
15/8A 98 76 174 54 241 | TG — 457 473 930 286 336 | HEE — 460 471 931 279
( 3) | ( 0) | ( 3) 0) 2) | ( 2) (NT BH18~35%i) 2) 3) 5)
16|75 5 H 108 119 227 65 242 |1 T5HE — 605 612 1,217 353 401| ERAA—TH 845 895 1,740 532
(0]« 1) | ( 1) 2) 1) 3 4) 3) 7
20 i KA 287 277 564 193 301 [ RAGEH— 443 486 929 370 402 ERARTTH 0 0 0 0
( 0) | ( 0) | ( 0) (—TH) 2) 0) | ( 2) 0) 0) 0)
101 | K75 336 360 696 267 302 | KA EHE— 414 458 872 358 411 | KIEK—TH 727 737 1,464 426
(—TH) ( 1) | ( NniC 2 (ZTH) 1) 3 4 3) 2) 5)
102 | K74 281 291 572 215 303 HGH = 547 586 1,133 445 412\ KIEK_TH 379 393 772 232
(ZTH) (0 ( 1) | ( 1) 0) H C 1N 1) 0) 1)
111 O&hE—TH 852 853 1,705 669 304 AGE Y =— 1Y 167 200 367 164
( 2) | ( 4) | ( 6) 0) 4) | ( 4)
M2/ 0&0E_TH 479 465 944 393 3N |HAEHE— 582 613 1,195 417
(O ool 0 (—TH) 0) 0/ C 0
12117 —2 bl 252 243 495 161 32\BHABE 461 503 964 316
(O ool 0 (ZTH) 0) )N )
140/ L HDR 225 216 441 163 NI FAEE= 640 657 1,297 409
(—TH) ( 1) | ( NniC 2 (=TH) 0) 2. C 2
141 | HOR 46 56 102 11 M4 BHAEE= 206 210 416 146
(—TH) (O ool 0 (TR 6) DERC).
142\ L H0R 315 347 662 256 5\ HAREL 1,072 1,033 2,105 687
(ZTH) (. 2/ 8| 8 (PEITH T H) 0) 1) | ( 1)
() PIISNE A THYRER, (H24. 750) [ A ] B 25599 A % 26381 A i 51980 A 18,251 tt&
KITV—=vid, OLE—T BATBIXICE EH05, HBNCEFL TET, ( 56.A) ( 86.A) ( 142.0)
SR IR 13, BT FATEIRIC & £ 508, FRNCER L COET, (RIARI] B 25508 A & 26384 A i 51982 A 18,194 5
[#& &) g 1A Z  -3A 2 A 57
( 1A) ( 0AN) ( 1AN)




